
(uttlbl{ub N 1

(4 t4urnur{urpnrplurtr 2015p. tlutlIuft 7-ft

trfrurnf N 20 urpdurtrurqpur1frL npn2drltr

<unnP+nhu
F ur p bgn p0ru I rub 6p uqp b p Jr 2pgrutr ru [b b p n rrl 201 4 ptltu I utt h

pb ptu gpn ril fr p ru 11 utr u g r[ru 6 ru 2]u ru rn rutrpb b p Jt f u u lttt

(qrluugrutrfr (utrpruqbrnnrplurtr l4urnrut{urpnrplurtr purpbqnpdruLluL 6purqpbpft

hurdqrt4urpqrlurL huLdtrudnrln{fr t,;nqilhg npuL4{u6 6puqpbpfr 2p2uLul4trbpnrd 2014

p{grtaurtrfr ptrpurgpnrd hr,utrpur4bmnrplnrLnuJ purpbqnp6urllurtr [r rJup4uufrpul4urtr oqLnrp.;urtr

6puqpbp bb frpurLlurtrurgpbl dfrguqqulfrtr tr hruLpurqbmurl.putr 143 14urqdul4bpqntplnrtr:

npgtrgfrg 58 tlurqdurl.lbpr4nrplnrtr fpuil4utrurgnbl btr bpl4urpurdurdlbm dpruqpbp' t4ur4rlrub

frtrlqbu u2fugrrnutrptrbnh lumr.r.rpdruL h 6unulnrplnrtrbbpfr durnntgdrutr, urltrqbu fi pupb-

qnp6gl4rutr pbntrbpfr trbprJnr6durtr nr pur2furJul hbm, frula 85 l4urqdurl4bpr4nrplnrtr fpuluLug-

nbf F lurn6udurillbr.n 6ptuqpbp' l4urq{ur6 dfitu1tr pupbqnp6url4utr pbntrbp]r Lbpdnr6dul h

pu2fudurtr hbun:

Llb6qrbur{u1 6purqpbp bb frpulurtrurglnrd osruptrfr tlbpurbLnrtrrp hfrftur4pudl' 5.56

dpq 4pgrtl, nUpurpl4frpu rlfurgurl durLlrril.lurtr pupbqnpduLlurtr hfrfturrypurrll' 4.29 dp4 4prurl,

nUJp, l.{npurlutr hfrdur4pud'2.09 rJp4 4purl, Urulp Upnn Unrpp E2rlfru6frtrp' 1.89 rJyrq 4purd:

Unqtr rnbrlb!urtrpnul ntr+qnll4r.u6 bL ud{rnrfr tnbqbl4nrplnttrtrbp rlfrurltr rulL 6puqpbpft

tlbpupbpltul, npntrp hrudurqurrnuru[uuL nprul,;nrrl bL umughl (urlr.r.rumutr[ (urLprlqbr"nnt-

p1lrtr lqrnur{urpnrp.;uL pnrpbqnpbuluL 6purqpbplr hturftilrupqdutr huLdtrudnrln{fr lnrlJfg:

Pru p bqn pdru I ruh p b ntr bp [r fu b p dn r6n rrl tr p ru2]u n ttl

2014 prlulurtrfr ptrpurgpnrd hutrdtrurdnrln{r t4nqr.lhg npul.lt{u6 purpbqnpbullutr

6purqpbpfr 2pgrutrtulLbpnLd 51 bplapfrg hurtrpurqbmnrplnLtr btr trbpdnr6r.lbl 18.59 rJprl 4pud

iltupuulfrtr updbpn{ pbnLbp' 131 lurqdut4bpqnrplurtr hurugbn{, r.u14 p{nLd' bpllupurdurdlbm

bpurqpbp frprut4urtrugtrnrl luqrlurLlbpqnrplnrtrLbpfr hr.uugbn{ 8.34 dp4 +nurd updbpn{,

!up6urdurdtlbrn 6purqpbp frpur!uLrugLnrl !uqrlur14bpqnrplnrtrtrbpfr hruugbnr{ 10.25 dn+

4nuril nrpdbpn{ (qr1 pQnut 11 wnnq2ut4whntplutb tttulutupupnrylwtt oUtup7wufipwQutt

oqbnplwtt hwbpwt4bqwQutt Qbttqpnb, qnuq-h 7 tfn+ +nwfhg wqblh tlwpuwlltb wpdbpn(

4br1npqp, pd2QwQwtt qwpwqwttbp lt uwppwtlnpnulttbp): 2013 p{ullurtrfr huilbJr,umnrplr,udp

2014 pt{rulaurtrfrL trbpdnr6{ur6 pbntrbpfr durpuurlfrtr updbpp trrlurqbl h 5.03 rlp4 4pudft

prr.hn{:
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lwptt t tt2bl, np bbp[nt6(nr7 r7brynpw1p7, pd2QtuQwtt uwpEa(npnufttbpp lt ulwpw-

qwbbpp olfwp7wultpwQwtt oqbntplwb, pwpbqnptnrylwtt h qbfuttfiQwQwtt oqttnrylwtt

uwpqn4 uqwg(nr\ Tbnbpn, pd2QtuQwtt b2wttuQnrylutt wnupQwbbptt nt pd2QtuQwb uwpptu-

tlnpnulttbpp tlbpwqbwhwqnq, w2luwtpwttpwllttt futlph Ltnn[hg hbqwqqnut bttpwQw btt

Qbpwqttwhwqtwtt, hbtpttwpwp Qbpnhltywl qnulwpwllttt wptpwhqqntplniltttbpp u.tbt-tlp I
pb 4n it b 1 n p q b u Q n rytb n p n 2fi I Q w tl q b qbQ w tp rlw Q utt ptt n t1 plt :

Curn trbptlnrbnq luqdtllbpqnrplnrLtrbpfr r.nbrlblnrplnrtrtrbptr urfifnrf{ur6 bL htut{by

{ub 2-nrd, nuLn urnuprlutr bp14pfr' hur{b1t{ur6 3-nrd, num uu{ntutrpurlfrtr lurlpbnh' hu{b$u6

4-nrd:

Cur.n durpuurlfrtr updbpfr'trhprlnr6t{u& pbntrbpfr 51.a %-p urnnrpurquhnrplul ptruqur-

{qrnh uqputrptrbp bL, u.r14 p{nul' 4brlnprulp 6.52 dp4 4nud rlurpuurlfrtr updbpn{, pdZttut-

t4r,utr uuppur{npnrilLbp tr qr.upruqurtrbp'3.04 tlp4 4purd dupuurlfrtr urpdbpntl:

Fbntrbpfr 34.78 %-p trbpilnr6{b1 h Utflr-hg, 14,84 %-g' Ct{blgurpfrulfrg, 7,3 %-1'

2frtrurumurtrfrg, 5,82 %-p' U{uunnhrujhg, lr' , 4,78 %-p' l.Ibd Fpfrrnutr[u1ftg:

Ctr4hurLnrp undr.urlp, jurn dr.upuulfrtr urpdbpfr, pbntrbpn 47.66 %-1 trhpdnt6{b1 [ bu-

furupgrpnrplnrtrtrbpfr, qbpurmbulnrp.;nrtrtrbpfr tr ulbmurLlruL nr hurlurltrpurlhtr ult l4uqdutlbp-

q n rp1 n ttrtr bp fr h ur ug bn {:

tl2luu rn rutrptr bn h I u u ru p n rrl b 6ru nu.; n rg n rtrtr b p ft f u n n rg n rrl

201a p{ulaurtrfr ptrpugpnrd (uluurnutrfr (urLpurqbrnnrplurtr l.lunu{urpnrplurtr punb-

qnpbtuluL 6pruqpbpfr hudurllurpqrfuutr hurtrdtrrudnrln{fr qnqdhg purpbqnp6ul4utr npr,ul4nrtl I
rnnrlbt 58 !uqrlurl,4bp14nrpluL Qnqdftg fpurl.lutrtug{n11 ur2fuurr.nrutrptrbpfr lltlmupdr-uL t4ud

6urnulnrplnrtrtrbpfr dumnrgdurtr 6purqpbpfr, npntrg qnulurpurlfrtr urpdbpp luqrlnrrl h 2nT!

31,373.13 tlltr 4pud (hutlbl{u6 5):

2013 p{ur[urtrfr hurdbdurmnrplr,udp 2014 ptlullurtrfrl huurnutn{ub bpl4tupurdurdlbm

bpruqpbpfr qnrdurpulfrL urpdbpp trur{urqb1[ a.8 dp4 4purdn{:

Cur.n pLuqurt{untrbpfr ur2fuurnuLBtrbnh lurmr,upnuln Uurtl 6runur1nrplnrtrLbpft durtnnt-

gnLdp nrlrfr hbrntrlurl qrurnlbpp'



hnqhnn 7.785.56 24.82 %

unnnguuttuhtutttutt 6.37s.38 20.32 %

unqhuturUutL 6.289.91 20.05 %

Unoul-rurtt 5.109.68 16.29 %

uunnm 2,983.66 9.51%

oulnulpulhLrnrBtnrtr 600.00 1.91%

h ur dur tlrBur I hL q ur nqtuq n rd 471.29 1.50 %

9n ru dur m uJ U ur n ru n dtutl 322.93 1.03 %

rbruUnuB 297.81 0.95 %

dhqnruqhur 274.21 0.87 %

q.rnnuJmLmbuu.rUutr 269.00 0.86 %

urnmuUurnq hnurdh6ullLbn 237.88 0.76 %

pLurulurhqurLuUurtr 236.12 0.75 %

nnurdultrnnh 72.46 0.23 %

6 utr ur ru ur n h urzhtr n rpl n ttr 47.23 0]5 %

(un! h trZbt, np 6purqpbpfr qnulurprulfrtr urpdbptrbpp tr2rlur6 btr puur l'luqdut4bpqnt-

plnrtrtrbpfr trbplrulurgpur6 hulmbnh tr urilr.hn{r mbqbLlnrplnrtrLbpfr, nruunfr 4nuLp qbmp h

p14nrtrb1 npqbu t4nrltltrnpn2ht llr.ud unbrlbl4urun{rul.qutr pbnUph updbptrbp: Ctrq npntd' tr2{rl6

8puqpbpfr Jfr dtuup 2urpnrtrurt;ullurL h' d[L1tt 20'19 pt{tttQuttp:

Ctr4hutrnrp runrluilp, 201a p{urLlrutrfr ptrpurgpnrd hr.uurnumtlw}244 bpl4upurdudt4bm

6puqpbpfrg 112-p rlbpurpbprlnrd bL 2frtrrupurptu!urtr ur2[uuirnrutrptrbnh frpur!urLugdtttttp

(Llunnrgnrd, {bpul4urnnrgnrd tr {bpurLnpnqnul): tl14 p{nrd' {bpurl.lunnrg{b1h t{bpurtrnpnq{b1

[ 68 gpurqh6, 30 rlu.lnng, 18 rlurtrlturqurpmbq,l-r 7 pnrdhr.uumumntplntL:

t{ruqrlul4 bpqru [rutr h u pgbp

(utrdtrurdnrln{p hutr4frqnrdtrbp I lauqtfulabnrqbt hutrpurr4bunnrplnrLnril qnp6nrl tr

purpbqnp6ut4urtr 6puqpbp frpurtlrutrrugtrnrl rnbrlurl.lurtr nr ilfr2ruqqu4frtr lruqdut4bpqnrqnrtr-

trbpfr hbrn: Utrg btr laurgqbl hurtr4frqnrdLbp, ptrtrrupQr{b1 btr rlurpqurufrpurlruL oqtrntpltttlt

6puqpbpfrg uumfr6rutrruFurn q.unqtugdrutr bpurqpbpfr utrgtrblnr hbm !uq{u6 htupgbpp:

(ur pg ur4p n rdL bp I h u {utr n rg urtr btr ur pdutt ug b1:

FurqdurpJr{ urlgblnrplnrtrtrbp btr t4ruuup{b1 frpurl.qurtrtrgdutr t{ulpbpnrd 8puqpbplt

pLpurgBfrtr 6uLnpurtrrulnr, up4lnrtrur{brnnrp.;nrLp qtrurhurnblnr [r uruhdultt{ub ttulumuLl-

Lbnhg 2brlnultrbp pnul tmutnr LqurmurQn{:
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2014 p{urlutrfr Strpurgpnul mbm I nrtrbgbl (uluurnutrfr (utrpurqbunnrplult l{unu-

rllrpnrqqrtr pupbqnpdul.lutr dpuqpbpfr hurrlut4urpqdr.utr hrutrdtrudnrln{fr 15 trfrum, ptr4ntL{b1

h 1,376 npn2ntd:

Fnlnp hurpgbpft r{bprupbpltul hurtrdtrurdntn4h npn2nrdtrbptr pL4nttr{b1 btr purgurnuqbu

2uhurqpqfrn trurfuurprupnrp.;nttrtrbpfr bqpultugnrplnrtrtrbpfr hIdub {ptu:

(( 
1.1 ru nru {ur p n rp1 urtr pur p bqn p6ur 14 rutr 6p ru qp bp ft

h ur tl ur I ur pqd urtr h rltrdtr tldn qn {fr L r.u fu ulqu h

U. Sbn-UhUnrJ3UL



(ur{b(ru6 N 2

(( lurnur{urpnrplurtr 2015p. du4[u[ 7-ft

trfrumfr N 20 urpdrutruqpurlfrL npn2rlutr

sbnbqurre
2014 pr[ru[utr]r ptrpurgpnul (( bbprlnr0rlut rlurp4uruJrpur[utr oqtrnrplub pbnhbpJr r[bpupbplutl

(purn Iuqrlru! bpqnrPlnrhL bn h)

<4<< tr ruqrlur ! bp q n rpl ruh urh n rb p
Uupurulftt

rundbon

cl,+uubLc 18,585,600,696

00006023 (r.urtrurUutr lrundhn fu ulh nLUbnntBtnttt 48,231,321

00006479 (u r L ur Lr r.r.rl.r nui n bcm nbu [r utr ntrnh urtrnrn dh n rBt n rtr (<P C l.t) 385.747,576

00008732 << qUU n [,]-nt bLnutun UbLuurpurtrnrouU frtrurnfrmnLm, q[qLr 1.303,68€

00009237 u Un u nb h n > tlh r.r.rq t u t durb U ur h urtr pr.u n bqn n6ru ! uL h fr rltr r-u 4p u d 182,375,727

00010235 ii ft . 3 n r r utr h urtr rl urL u n I n tU ur pulL ur L u.rtr U btr un n ntr o <D F C 201,437

00021952
;Frxn@urqhrt dfrurpr.uLnLplnttn pr.upbqnp6u.rL4uL hr.uuuptttl.1t'ttItttlt

I rr r ro rlrrl rhnrrrnr atnrl-t
741,221

00032803 [.Jbnhtrurtr hu,1 qrtlbrnurnr.r.rLllrl.rptr ntrUbnqrUqnrBlurti (r.glurumr4rtrh dlquulloln!l.- 1.030.727.304

00040233 +hr,n n rrdr uib tl tu nu gul ul u n m bfu tr n t nch utr bn h urqqur; frtr h fr rltr ur 4p u d 2,981,042

00055581 .. U r.r.r U n Ln ru " ptu n bqn nbur U tuL h ru u u n r.u ! ur lltltl q tqdur q bn u{ n,H n,t 2,622,308

000s7312 n Uft nU, punbqnnbrulrub hhdtrurrlnurd 150.719.443

00068196 n rlh 
r.u tr ntrh u, ntu n bqnn6ur U r.r.rtr h h ft rl nnur rJ 343,092,208

00068891 <1-, r n r Lul r$ Un rjbtr h r,u, pu n bqn nbulU urtr h h rltr ur nn ur d 9,390,633

00074765 ,.<,"' lr,r b urtt u Utt r.u nn tdr.r.r U u:tr tr u lu urqh8n ptu n bqn n6u tr urL h h dL ur nn ur d 75,185,508

00081288
nflu.nnqfrurtrut.udu d2ur!nrpu4[L-uLnbr16u:qnpbutt!utt hutuutpuQut!ttttt

[r uro dr.r.r lr bn ur n mt n ttr
6,00t,002

001 00778 nbnhutr hd ubnu hhdtrurnntlrrl rs,615,383

00107012 <Uulnnutnuruttumu punbqnnbgjLr.r.rtr hr.r.rur.gnurUurllrltr !grqrlut4bpqntplnttt 70,661,350

00110549 <,rl n n n u r urL u ur n u bqtr bn o pru nbqn n6ur U r.r.rb h h ft u nn ru tl 85,132,07s

00130776
,6np0u oL tfrtiipbL Lurnr, lrL!" purphqnpburlr.ub t4uqilul4bpqnrplu.rtr hulr.uumuUlr.r.rtr

rlrrutrrtl6rnr n
74,093,428

00430023 nFurnh Luumur[r, EunbqnnburLutr fhnrBtntbo hutuupr.ullurUurL tauqfu14bpqnrpjnrtt 51,913,539

00438145 nCnnhbn hr.urtrr.r.rUurtr nunbqnnbr.r.rUutr huruurnr.nliuLtutr Luqfu[,|bnqnLplnrl'r 231,906,562

00800135 n [Jh pu r bt r urtr r.l h n u pn tdn tH ultr hL u m h m n rrn ), Op C 48,965,687

00803072 ,<hrlurtrnnLornttrtrbnh tlbnurhulrrluL h lrgrtrtutunqbtfurL [1btrrnnntr, <DPC 119,025,933

00804091 n bnbrrutrh l.rbbnuoutr urUurL r.utqhu <n Uq 19,079,383

00805541 << qUU n Fn tuut FuLnLBl r.uL htrur"nfrrnnrLnn rl fl Ug 3,182,801

008s4603 u'rl r.u m iln u - U n ur n ui Ln D p u n bqn n 6ur ll urL h h dtr ur nn ur tl 2,284,777

00861992 Pbnrorr.gtr hurrft.grluurnhgrrhtl hhrJ!qrnnqrdfr hr.r.rluumurtrlrl! dq.rutrr.u61nrr1 6,388,354

00877871 nPbLnr, uhLpnnrnnnLuthtr hbrnurqnmnrratnrLtrbnh htrurnhrnnrrn" hfrrlLur4prurl 412,098

01002597 nPurtr u obn-2bt on rtr " ndrtr u U utr U btrm n ntr u <D F C 61,533,792

01003187 <LlutdnoulLu unohulr-nurnbonndr.r.rUr.ub huruulnr.uUurtrurtr UtuqdurUbnrUntOnLtr 13.382,801

01014107
nl.I[qfru-Curtrqup, bqrlfibbpft uqqtqfL dftu{npnLd htttuttlptu14tttl1tttlt

lrr r rnrfrrlrhnrrrnr nrnrtr
5,177,409

01202252
n.lbpr.uprnr.u4pnqur!urtr urnnrynrpjr,utr, qbpfitrumnlnqfrurlfr, ilutr!upupdnrpluL h

ohU bL n r noh ru t h h r.utr n ru u brn r.u U tuL htr u r,n h m n rrn n <DP C

't54,944,13C

01202364
;U.F.FhluurL1Lubfr utr{utr uqqulfrL qfrrnr.ulurtr tuipnpurmnnfiur (bp$h)'
hhdtrurnnurd

1,447 ,802

01203444 < U.,'1. lJru r ur t utr h urtr d r.utr ur Ltr urpn rdu llurL ll bbu n nU,' Op C 13.427,365

01232't06
<l.r bnl u m ur 1 pd2! n tp1 uL h u4 ! u ! uL u u n g I u.t g f ut > h ur u ur p ur ! tt"t ! tttlt

LuorJulrbnurnrntnLL
5,137,005

01244139 <Unnn9 Ururt"rph nrnhn punbqnn6uUutr hurur.upr.u!uL|rutr Urlqrlurt4bpqntplnrtr 30.416.012

01245672 n Uhtlntrruul" UnBurUr.utr hhdtru nnu d 34,035,282

01246805 n (tu 
r U u U r.r.rb t bqbnL, h u.r u r.r.r n ur U r.u tl u.rtr U urq drl U bn r.rl n rBl n rtr 415,422

01255555 n(ulurumurbfr uqqurlfrtr qn1$fr ruungfrurgfruu huruu:pur!r.r.rQurL t4urqftu!bpqnLplnLtr 122,351

01255848 r3ulLo rurr$> ns urntlnnu.rrhtr trurqdtJUbnulnrtaturL hrrtuuurrLturtr ilurutrur6tnrn 19,912,757



01501229
Z u4 ur u rnt[[pb d b t u ur 1b rn f r L1 ur1 fr $ b 4b p u g f r u o h r-r.r u ru p u Q ttt Q ttt tt

[ruodu[rbnurnrlatnrtr
2,580,02C

01503448 .bptruLfr l.Iluhprn (bpurgnr utr{utr qbrnurlurtr pd2lurllrutr hurdulur.r.rpurb, qnuq 13,207,392

01505795
u<u4urumuJLfr nruutrnrlu.r!rltr gn!urrnLbpft htuttptttqbmult4tult 2utup -
l-r ur rlu rl nn r,u Lr urtr urlu r.um urtrotr bn h 6u nul I n tH n ttr n 4!-

524,931

01506092 n(u r u"r u un urtt h urqqur t htr qn ru qur n rltr, al fl Uk 17.946.97e

01506928 n bn brutr h ur brn r.u Uurtr h ur rJtl I u r.un r.uL' al fl Uk 81,271,763

01512885 ..(urr ootrnrorqrtr rjhnLBtnrtrn punbqnn&ruUurtl hr.uur.r.rprulr.ut4rutr t{urqdurtlbpqnLplnrtr 81,834,911

01513717 l< Uour ur b u n ur n bqn n 6ur U utr U ru q rJr,r.r U b n q n rH n Ltt 122.564.135

015138s3 ilf uAu L bn u bu n n ur n bqn n6ur U urtr h u u r.u n ur 14 ur ! urtr Ll urqrlu t4 bp q n lpEttt 57.622.308

01533s74 ,fluLrnur6nrdh nntrnnLbnh hurrtrtnLurL nbbuunpn pupbqnpbr-uqu,L hhft,4ruqd 4,732,311

01533651 ,,qn rnqut, uur hBt urL h Puztu pr.r.r rfr pqrqdurqqr{ur t{ ntr m urtr hpL bn h, h h ft u r}n ur il 110,173,519

01538293 ((n ul L1<-h tlrLn ur U ulL tr bn U r.ut u.rq n roln p1 n rtr 74.450.913

01538594
@i r.r.r nu.rtr g u u h durtrtr b p fr' dfr n rp1 uL ( r,u1 r.u u u uttt ft

rlrruLrr16tnrn
229,151,467

01555988 ,.(nurrn tr Utrtrur (ndtrutrturtr $unLL+hZtr" lnn 29,020,496

01557357 ,. itn rlUtr tr,rrtr I ur I ta h u n tu n pur n bqn nbr,r.r ! utr h fr rltr u 4p ur d r20,288,862

01558429 n U3Po LnBuhutr hhtlUtu+nurrl 13.695.711

01563918
fr rn n rp1 n Ltr u u ng Jr ur g fr u > h u u u p r,r.r L1 u ! ttttt

l rr r rn r [url rhn utnt atnrtt
5,592,121

01565354 n Q r n rtr h U, n r.u n bqn n6u.r tl r.utr h h rltr ur nn rr.r d 866,211,355

01574053 UW-n tfnrqturt hurttturhurtr hfriltrur4pr.udfr (urluruLnurLfr trbnhurjurgnrgtnrpjnLtr 130,838,26C

01805335 n (ur 
r ur u Ln rutr h Bbtr h u h bbnbn uq h u u h ur u ur p u ! u ll urtr ! uqdur t{ bn q4pl! ttt 843.539

01820284 n (r.r.r1 ut u m tuL I tr brn urdqn rq urtr $b4bp ur g fr r.u " h, u 8,386,615

02214044
(q4urumultr[r hur2tlurtr4u.rtltrbpfr <<Dlnrtr[14> d[nrplnrb> hruur.npruLlr.nlr.utr

I rr r rnrfi r rl rhnrrrnt at n Llt
5,162,186

02241113 nUunnrnh urtur.unho hhdtrtlnnud 28.212.600

02251537
ffi ur1 frtr ! rlqtl u ! b p q n rp1 rutr h ur1 ur u rn urL.; uttt

trhnburruronLornlatn tll
799,031

02252332 .dJ r.u m u n o h ur rd urb nr.u dtr bn h h ur u ur n u.r U u L utr U ur qrlur [1 b n q n rp1 n ttr 16.765.017

02s04895 ,, a f, tf <-h tr urtr tu ur nqbt rlurtr h urtr p ur q bmur t lurb ! bL r.n n ntr' cl fl U9 310,792,036

02505418 ., la-trr Ln bn ur tlxtr qn n6httr bn h tlh ur {n n nrf o h ur u tn,r', U rr l,|,rrt, ll tq,Iur U bn q n, 3,155,870

02507456 n (ur 
r r.r.r u m ub, h ur rjr.r.r h ru t U u.r ll uL h h rltr u nn ur tl 544.723,945

02507911
,o(ul1tlurntuLI rLuL!urt'1urtr rlungIutgfrrl, ptupbqnpbuLluttt htuutuptuQullttttt

I r rrrorlrrrlrhnrrnrat nrl.t
31,649,799

02508003 ( l.ll, 
" 
tlu n nu u h n ur h urtr oqL n tH rutr hr.uL p ur q bu @ 7,007.456,578

02508717 ,,(urrruuurutrh hr.r.rtrnpnth $bnbnuqhuru hr.uuupr.u!ur14urtr 14u.rqthuUbnrqnrptnrtr 17.519.200

02s11556 (( bn [r n r.u ur r.u h U ur dur d n n ur U urtrtr bn h rlh n rBl n rtr 12.201.569

02512394
n btr g h urtr t{urtr qp r.r.r t.1 utr n Lp1 u:tr h ur p {bu tn fr

arrLotlrnutr> rnnUq 641,316

02514117
utfnp [r durblultr unnryntp1tuL qulhqtllttluL qftnuhbmtlqntnutlulu qEUufinu),

ocn
2,817,072

02515951
o(u1 ur u un uL I Uqqurl f L ofi dq I u l4tlL t4 n d[ mb> f p ut {ut ptttlt ttt t1 utlt

ru-rl?t u,rLo rlh n Lnt urL
34,257,56e

02517115
Udbp I taul I o (uu1 oqL n tp.; urU $nL r1> pu pbqnpdu! utlt luqO ul q Ufr u{ n tp1 uru

(rrrrurrrrnrrrtrh rlu-rutru.r6rnLn
662,441,802

02522586
n(r.r.r1uumurtrI hbbtuLt{u1[L dupqudtrh $babpurgf'u.t> httruutptut,;tuQtult

l-r uro Jur Lr bn ur n rot n ttt
13,903,245

02528755
;qnntrl qh& htrpbptrbl2trp' dfrgnrqqurlfrtr pu:pbqnp6ur!urtr LluqrJu!bpqnLpluttt

hurruru r-nurtrr u.rtr du:uLu6tnrn
391,569,344

02529843 (tur u u rnr.r:L h hn btutrutr hr.udu ttrB 373.248

02s34328 (( Ur,unr.r.rdurnnmrurLL r.unnLBbn tuhzurnd clnttBh Urlntuumnh qbutlLttult lndfimb 20,733,039

02539777 Llnurnr.r:mrtrtr h urr n uubrntutrurtr Bbd 33,513,496

02545539 r(urrr.uuunuLh unrubnr,udr,unmh $bnbntuqhun hulutunurUurUurL UtuqrjujUbnulntplnttl 4.142,561

02547542 n(ultluunurLh 6qrtrnu.rdr.unr.nh $bnbnurqhul> huuu.rnurUrlUurtr Uuqdulibnu.lntBlnLtr 5,074,943

02549194 n(tl r ur u rn urL h d r n rnn t h $bnbn urq h r!, h u u ul n ur UuL urb q urq du U bn u{ n tp; n ttt 11,201,138

02552842 <Onnurtru nurnbonn&url.rrrL huuurnutrutrurtr [rruorlr.r.rUbnruntotnrl.r 47,798,293
02s60s22 n(ur r ru u m urL h ru fu tftr tn h u U r.r.r nbdh ru, h h rltr urnn u d 8,819,188

02565835 .lulrnh oLnrorub br ilrUnrourrhtr urndbptrbnh uruhurrltrdrltr hhrjtrurnnr.r.rd 23,200,469
0256678s u(,ur nurnno> hhrlLurnnurd 3,253,955
02566915 u(ur r ur u tn urU h Sn rm nn r h $bnbn uro h rr, h n u tl u nutr ur U ub r.utrd r.r.rtrq rjh n rot n rtr 376,010,408



02571251
,(utlurgur{ullfrtr h qufiurrn[r{ oqLntplr.r:L uungf utgftut> huuutputQtlQutt

rrrro rlrrrLhnurntntnLtt
1,305,089

02s89789 << ur n m rr L ur no h n ur r.l h6 ur UL bn h t"r ul lu r.u n r.r.r n n rB| uL uztu r'u rn ur ! urqd r0.782,399

02594556 n lju: r n h, h u u ur n u U ur tl urtr U urq drl Ubn q n rn n Ltr s98.866

02s98634 r$nnLo$nu UndbLhun hhdtrurnnud 81,652,786

02599291 ,dln uro.h r' d bn u n tn r.unn n n r.u U urL pdzL n to uL urpurUg du/U h | ft u 4p ud 141,250,120

02600s39 . (h db r.u rn r.r.r rl n t? > q u n qu q dulL h h dL ul nn ul U 53,305,456

02607847
,.(ur2d-urtraullnrplnrbnrLbgnrlurtrdutrg2uhbpIqu.r2rnquLntpltuLuqqtltlf ttt

nul r ht.r o > h n ur d r.r.r n ut r r,u t r urtr r.r.rtrd ubq dh n rct n ttl
1,237,890

02610161 nQnuobntrlUh hurrtrurtrurL nuu2trnrBtnrL> huuupurlulrlb lluq.ilu[Eruqnlp.ptL- 't09,718

02612476
@ bp I h u dru ! u,r pqnrl t,; btr m p ntr o h u u r.r.r p u l.1 u L1 utr

I rr r rn rlrrl r hnrtt nrlat n LIt

32,613,194

02622572 <Lnruurnuror, ilruLntoutthtr hhdtrrlnnurd 609,099

0262ss03 <(fr{uL4nrplnrtrLbpfr {bpurhuLldutr ! lurtrluurnqbtilutr urqqurlhtr lbtrLnnnL' alflU9 699,314,120

02705657 <bh &b nL u Lr ur nb n n, p ui n bqn n 6u lr urtr h h rIL r.u nn u d 157,044,562

02705838 ,,(( u rh t n Lnph tr r.u lu u n ur n n rB; urtr u2[u r,u Ln ur ! urq.rl' 1 94 3,570,918

02706151 n Pur n bU bq n tpt n tL > pun bqn n6u.r U urtr h h dU u +n ur d 75.600.264

03017721 n(nu.ronurtrh ndrUurUurtr hbtrrnnntr> <DFC 1,956,178

03308579
tr n tp1 url u bp I m r.u u u p 4ur ! uL h u.r u ur p u L1 u ! utt

I r r r rnrfi r rl rhnrrrnr at n tlt
2,907,240

0380125s o l-u ur n nbn nh dur uL uqh r.n tuq rl urb ilurtr Utl r.n n tL, 0 fl U9 28,114,661

03812671 n Qr n nur r hr n l-r borl n np, dh n tB| ulL h r.u l tl u r,n urtr l urL rJLu utr 116l n rrl 1,134,260

042011s3 (( Unur nurtn h du nqh Unrn ulurmh pulnulpu tq bmptlll 4,417,440

04407588
((nn[[qhnh rltrrnqh n2npr.r.r{tlp Ubr}purLf'qft uLt{uL N 5 tlft2ttutlurnc+ +u{nngn
rnnuq

4,535,840

04703401 lJr.urn Uonn Unrnp kqdhui6htr 613.532,714

05002894 n Urmurnr.uUh ndrtrurLurb trbtrrnnntr, <DFC 26,780,867

05005559 ., ft Lourtr tr 2n n ur d ur n Utr nn uutr h U h urtr d utr Uhqur Ll ur nq nq n ng > q n Uq 7,139,078

05019664 .o<urrn tjbn' uror.uUqnrHr.r.rtr Lbtrrnnntro hurur.upuulrulutr UulqduUbnqnqnttt 80.248.847

05020036 .,tlurunurl-tln,r.rnumo Ftunbqnn6urUurtr htr.rur.upur!r-uUurtr [4u,qrllUlnq41gl,L- 78.761

05514397 *(urtru:Uurtr trtunhmuru, pupbufrprut4ur[r huruu.rpu!ur!urtr qrq-{*!qn-!gl]!E|n,t t,086,185,811

05521 91 B grnLdnnt nbnbfuurtrbnh mnttr, qnUq 1,392,038

05531394 "$purtrufru4fr 
pnrlnpul4urtr bLlblbgnr [r (urluumuLft tl[21^t hutdbptu2funtpJntUD

n rr r n hn n n6ur b urb 1-r ulo rju.r Lr bn ur n tat ub $t n tdn n t rlu.r ub u.r6 t n rn
5,102,731

0580281s (( Chnutrh dunqh "Uqurmutrh dhpLurUurnq 4qnng)) qnUq 13,008,842

0s806438 Pur dh firtr tn h dh ur ourtr n tot n tL n U p. Pul dh t t h n, prl n bqn nbr-u [t ultr h h rltr rJ rln ul d 71.908,041

06925855 ( Uft IJD pr.u n urqn nbur L utr h ru u ur n urlt ur h rub q uqdull bp u{ n rpj n rtr 29,794,718

06926461 ,,(urruurnurtrh uurtlpnth $bnbnrlqhuln huruupur!u!r.utr llurqdullbnqntplnltl 3,s30,654

06943485
,, b p n ru ur qbf fr pd2! ur ta utr U n tp p rlurqr.r.r p I op 4bL p (ut1 ur u m uL n td >

nrrrnho nn6urburtr hhrlbunnu J
15,752,052

06947624 < U Ln brlr r.uL ur rl ruL, nu n bcrn n6ur L r.utr h h dtr r,u nnu d 33,059,052

07203481 <Surrhnn nurnbonn6u [rurtr hhtltrurnnr.urI 202,979,872

07204063 nshnurdurtn (urtu.ruuntuLh nururnhr.unrlUnrqurtr UbtrrnnnL, hfrrlLur4puil 11,442,76C

07601785 (( S u: rl n rrh rlu.r nq h h obtu.rtr h puu n rlpur tu brn ur n urL 9.247]72
08417304 n9ulrlurnh ndrtrurUurL lrbtrrnnnLo <DFC 946.505

08906094 n U r n LL hp n p r.u n bqn n 6ur L urtr h u u u n ru U ur U utr l] u qrlur ll bn q n tp1 n {1 41,448,852

90006355 LtI( u nn q9 u 14 u h n Lp1 u.rtr tr ur fu ur p ur p n tpl uitr ul2tu ul Ln ul t l ul qJ 4.429.99C

90009087 LrI( U ur nur rl r.u p n rpl ulL u2fu ur tn tl [.4 u.rqd 91.2t6.108

90012511
<(rul oqtrnrplurtr dfnLplnrU,, Furnbqnn6urt4urtr hr.uuupu!ur14utL !uqdulLlbpqntpltult
Unourfu h tlurutrur6 t ntn

420,337

90012554 ntlnou.rfuh u:ourmuldunrnhl.rtrbnh dhnrBtnrLu huurlnr.r.rUtlUurL UuqduUbnulntHnLlr s00,04€

900264t1 n LhnL (tu 
r n tr ul brn t ub, pr.r.r n bqn n6ur U r"uL h h dtr ur ryn ur rl 3s,057,837

8A0520422 Lfunotunrul Uhnnrr UtbpuruLnnh (bUbnbqurtlurL qurtrqbn - 3 huu) 1.276.472

Cum (( gfrllllutrbpfr trurfurupupnplurtr rlupuurlfrtr dunr.ulnLplurL l4nrldfg rnpurrlu4pt{tud mbqbllnLplnLLLbpft



(ut{b1t{utb N 3

(( lurnu{upnrplutr 2015p. du4ftuft 7-ft

!furnfr N 20 updrutrurqpurlfr! npn2dutr

sbnbquLe
2014 pr{ur[ruh]rtr (( tbprlnrdrlru0 drupquuJrpru[rub oqtrnplut pbntrbp]r rlbptupbp}u1

(suu bpqPttbPh)

bnqhFe LbnUni\UnFU cLrluubLc
I bnrudu. ll bnudu. lll bnrudu. lY bnudu.

Clr'IUUblrC 2,698,849,37i 4,610,673,847 7,130,722,565 4,145,354,907 18,585,600,696

trtn 972.450.165 1 ,519,427 ,43C 2,346,148,496 1,626,338,600 6,464,364,691
jrlbtgurnhu 49,379,510 |,287,622,593 1.399,281,761 22.475,859 2.758.759,723

htuumutt 65,027,283 610,316,817 388,551,430 293,596/s4 1.357.492,244

tl{unnhu 15.831.638 2.952.134 765.572.402 296,696,189 1.081.052,363

lIf ruglul Ouqu{npnp1nil 393,785,600 95,480,588 268,538,077 131,480,591 889,284,856

Fh< 15,541,695 98,742,452 167.895,496 408.669.424 690,849,06i

trhnbntutntbn 2s2,468,533 101.840,892 r07.094.801 189.667,194 651,O71,420

Fbrqhu 15.284.216 80.120,342 461,151,465 84,697,995 641.254.018

[ttt 1 98,317,364 112j26,017 78,673,957 244.418,383 633.535,721

D+ 230.803.485 25,052,438 255,073,273 108,591,631 619.520,82i

rlbnduhhru 81,427,808 s3,760,891 235,637,878 135,400,743 506,227,32Q

bnutuhru 109.980.319 69.881.684 199,140,309 106,585,054 485,587,366
rltutrhru 43,748,690 220,424.281 17,911,045 282,084,016

{.pruurnuh 20.175.010 164,255,422 17.160.492 57.137.556 258,728,484

itrnrufu 19.003,976 153.858.061 36,280,849 5,477,510 214,620,39C

Lhlurnnruthur 97,122,321 97,122,321

(rnLuuututt 28.632.998 t6,621,858 25,859,924 19,662,681 90,777,461

Ourrlub 87.319.341 87,3'19,341

bhhrrutrnhu 370,867 2,284,777 73.769.875 76,425,519

(ntQntq 3,289,900 5,889.110 63.777.389 72,956,399

0rhnruhtru 39,039,713 373,248 7,092,601 24.481,80C 70,987,362

lunnduBhru 64.147.289 64,147,289

fi)nrnphu 19,044,928 40,831,774 59,876,702

Urn{uhhu 32,s65,188 13.783,s06 3,66r,393 50,010,08i

Fnrtnurnhul 2s.652,425 14.388.671 8,584,53€ 48,625,632

6ruqntrhu 28,680,867 13.020,637 41,701,504

(nrtrqurnhur 19,342,064 18,041,177 37 343,241

lbturnnru 12,379,410 16,222,794 28,602,2O4

turnnthur 27.367.633 27,367,633

huuturhhu 23.154.108 23.154,108

{hbmhuil 23,O17,416 23,017,416

Lbhuunulr t9,935,309 19,935,309

lruhunu 1,298,903 679.735 13,399,559 15,378,197

Outrrufu r2,028,935 3,073,148 r5,102,083

2bluhu 13.708.306 r3,708,306

!hpruhurtr 3.853.641 716,937 8,748,064 13,318,642

Ubqrut 12.700.771 12,700,771

.hu{u 11,525,181 11,525,181

lrnnbur 8,235,729 2,836,891 11,072,620

Iutulqhru 2.566.36€ 6,366,147 8.932.513

'l.hnohtrutr \nohbbn 7,884,511 7,884,511

l-urnrlhu 6,767,017 6,767,O17

iqftqmnu s,233,504 160,341 5,393,845

Unnrlbqhu 3,110,648 3.110.648

Lrnn 2btutnhru 1,933,401 883,671 2,A17,O72

Ddbnhu r,205,955 1.205.955

huprulbl 1 ,187,935 1.187.935
tlnnrnnrquthu 678,959 678,959
Quhhuurut 572,510 572,51C
(nrburunub 360,748 360.748
Ubpplttu 41,10i lI,l u/

Cuu (( $[rUuLutrbpfr trufuupupnLplult tlupuulfrl 6unulnplub lnqfirg
upurlu4pt{u6 nbqb!nplnrtrtr bpfr
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